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Aufgaben-Quickname: 6488

Aufgabe 1

Dies sind Wiirfelnetze. Welches Feld liegt nach dem Falten dem markierten Feld
gegeniiber?

Quick:
6488

a) b) c)
d) e) f)
g) h) i)

Aufgabe 2
Dies sind Wiirfelnetze. Welches Feld liegt nach dem Falten dem markierten Feld

Quick:
6488
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gegeniiber?

a) b) c)

d) e) f)
g) h) i)

Aufgabe 3

Quick:
6488

Dies sind Wiirfelnetze. Welches Feld liegt nach dem Falten dem markierten Feld
gegeniiber?
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Aufgabe 4

Dies sind Wiirfelnetze. Welches Feld liegt nach dem Falten dem markierten Feld
gegeniiber?

Quick:
6488

a) b) c)
d) ) f)
g) h) i)
)

|

Viel Erfolg!
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